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a a
Q#1: Orderof[ ; | is ------------ . ey
b T b
(a) 2by1l (b) 1by2 (c)2by?2 (d)1byl
Q#2 A matrix has only one row is called------------ matrix 4‘;‘:‘1&(525' ------ yz/lb}'ugd/ ufgﬁ_.JL?L,{'
(a) Row matrix (b) columns matrix (c) bothaandb (d) none of thes
S JK U#s JE3F
Q#3 IfBB " IthenB  is -------- of matrix B P ¢«B_/sy» IFBB L/
: -
(a) Addtive inverse (b)multipication inverse (c) Transpose (d) adjoint
UE ST UFG e e

........... =A(B+C)?n‘f'_,/”Julunqb"cffcuféka,Cf'

Q#4 If A,B,C are there matrix conformable for multiplication then A(B+C) =--------

(a) AB (b) A(BC) (c) AB+BC (d) (AB)C
Q#5: 0 (1)= is called a matrix c‘_lrllfb')l?dé 2
(a) Singular st (b) Singular Jst (c) ldentity Slas (d) Zero/'“
Q#6 solve this \/W c.J’b’\/W
(a) Vx\[y (b) \/x +y (©x—y (d) xy
Q#7 Tis a — — — —number EISY I T
(a) radical J}’L' (b) integersC"J (c)) irrationalg}bt/f (d) All of these U"(V“
Q#8 Degree of any R gutﬂ?/}’/u}
polynomials -------
(a) Highest power (b) rational numbers  (c) positiver (d) none of these
She o Al Fe = S5
Q#9: Factorization of 3x2+17x+10: is called. e Q/"é_i'].’3x2+l7x+ 10
(a) (x-5)(3x+2) (b) (x+5)(3x+2) (c) (3x+2) (d) (3x-2)
Q#10: Ifx-1 isafactorof2x2+px-8 thenP= ------ P=----- L};/}'],K2x2+px-8(?//?/;n x—lfi
(a)6 (b)4 (c)3 (d)5

1 Q)M[%JS)HU)‘M‘%



Q#11: .Factorz ujL}/’LiZlé x-16

of the x2—16are .

() (x+4)(x-4) (b) (x+4)> (c) (x-4)° (d) All of these
Q#12 HCF IS x-x X2 +§=? Iy x+i=9f’
and x°-3x+2 is
(a) x(x+1) (b) x(x+1) (c) (x-1) (d) x(x-1)(x-2)
Q#13: What should be added to x" +9 to make complete square nggUﬁ d/dé'..gu;&lagg L{ufx4+9
(a) -6x° (b) 6x° (c) 6x (d) none of these
Q#14: The method are used for finding of HCF. _uzz_ﬁdu’iifié_f(’)wr‘ﬁbla
(a)2 (b)3 (c)a (d)5
Q#15: The absolute value 77— _wEJ‘””J{-a}
of the {-a} is-----
(a) a (b) —a (c){a} (d) none of these
Q#16.|f4+57y= 19whany = — — — — — ?ny’é(}lﬂ‘uﬁfu%: 1951
(a)6 (b)8 (c)4 (d)2
Q#17.a<bora=bora>bis called property c;—c«a‘lé --------- #a<bora=bora>b
(a) trichotomy (b) Transitive (c) additive (d) None of these
du By 34 SALE
Q#18: If all enteries in matric are zero is called matrix _cé:rt'ﬂvf./t? ---------- n}‘uleﬁf%./l?w
(a) Zeroy #* (b) Saqureu’f/ (c) Row 3 (d) coluan}K
Q#19: The altitudes of an equilateral triangles are congruent U]LMJ&VV/ ------- L&L&CMU'J4W
(a)2 (b)3 (c)4 (d) None of these
Q#20:The median of a triangle are --------- R c~. bos Lol
gt
(a) collinear (b) congruent (c) concurrent (d) parallel
B S LA S5

2 ol G350 0 oI5
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(Short QUESTIONS) il gu e
(10X5=50)_t £ 05 L Jly g sl Fh=tiy10f ;29

Q#1: Define the matrix.

Q#2: Identify the Row matrix...

sy 78
Socle 7 5 GG s

1
Q#3:Identify the scalar matrix .A=[% 9]s-0.
0

1 3

Q#4:Find the Transpose following matrix:A=[2 5 S

e b
Q#5 Write the radical and index : \3/377"

Q#6 Find the value ofa’+b’ when a+b=8, a-b=-4.
Q#7 Simply 2v3 + 53

Q#8: Factorize 10a+5b:

Q#9 Factorize 4x° +81y"

Q#10: Find the HCF 24x’y” and 36x°y’

Find the LCM x° +16and x°-11x+28:
V3x+1

x+3

Q#11:

Q#12: Solve the equation = 2.

Q#13: Define the concurrent lines.

Q#14: Define the Centroid triangle ?

Q#15: Define the incentre of the triangle ?

(Long Questions) ! gm Ju ol

?ﬁé@qut?)?Js.yp
AP VT 10 P
RIS R

a+b’ oL ek

2V3 + 5\/3?5/’:2

10a+5b ?’éd f

ax’ +81y" 7%
,’é(}l” (M sl

-é(P F 1153
EfF e
B E A
Lo F Ll
_’é.g P dss it

(3x10=30)_t £ 10LJly - & Fltiy03f ;09

=0
=5

Q# 1:Write the following equation in matrix form ;i ; g
Q# 2:Factorize the following algebraic expression 3x4y3-2 7y
x%+x-2
x2-5x+6

2—x—6
x?-4

Q#3: Simplify the following -

Q#4:Find the square root by factorization Ax +1 2xy+ 9y2

Q#5:Solve the absolute Equation [15 + (3x — 2)] = 5x + 10

2x — = 0o~ 2 s
3i+ g :5?$uffd/.gjbfuuu
AT RINY L
2 2. - )
=~ MR Vg (Ve %

sl §F 08 e

_’éJa&bLfdbag Jw

B PRSI 8
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Q# 1:Fraction from of 70% is. _‘fjd/@/ 70%
(a)7 (b)7/10 (c)10/7 (d)10

Q#2:0.13 as persentsge is Jﬁdeo.n:?
(a)13% (b)30% (c)10% (d)13

Q#3:Ina propoertion a:b::c:d, b,c called. ?uZig?/"c"jﬁ"'b"ufb/l‘;JA:b: :c:d
(a)means (b)externs (c)consequents (d)antecendent

et 054 255K Byl

Q#4:Zakat is deducted at a rate of, ?cf. L}}’Zc@/&fd}‘{&/’i J

(2)2.5% (b)3.5% (c)4.5% (d)5.5%

?Kngybﬁ'lu:‘gfmrJmi/&g,gmujL_}/J?ggwi/&g,gJ/

Q#5: Of there isonly a 1 daughter or an agnatic grand daughter, her share is fited.

(a) 1/4 (b)1/6 (c)1/2 (d)1/8
Q#6: Loss is there when. .f’q.bnubﬁ
(a)SP=CP (b)SP<CP (c)SP=MP (d)SP>CP
&é)/'cwg=,o~i.;«g .;é)/'oxf<,3].;«<’j Mz‘@/;fiag:&};/’o{’:‘ :‘5)/'.:4’T>¢]'.:~g
Q# 7:Profit is earned when: 1 <t l{J’Ila Zj”
(a)SP<CP (b)SP>CP (c)SP=CP (d)none of these

u.?(uﬂ{éfcdfu’ ,u“]'caf=&'>}/'ox§ ,v“].oxf>&5:/'ag w“]'og<&5:/'ag
b z
_ugzgf:,uc, 4 Wg EXI Y S Wby, i /Lgu’(

Q#8:Ther form a tax which a buyer pays as a manufactured item at the time of

purchase is called

(a)excise duty (b)tax (c)income tax (d)sales tax

TPV 5 S

1] ol 8,500l



Q#9:The tax in addition to the price of the article is called.

(a)tax (b)sales tax

A N

Q# 10:Income tax charged on all taxable income during the year from.

(a)lStJuIy to 30thJuIy
(c) 1StJanuary to 30" Feb

Q#11:In/3,3 is called.

(a)Radical (b)Radicand

Q#12:Inthe logarithm calculated to base

(a)Manlissa (b)common logarithm
Q#13:VV2 =?
(a) 2° (b)2

Q#14:Innexttermof 12,16,21,27 is.

(a)34 (b)30

Q#15:is. 3v3 and A.M between /3

(a) 2v3 (b) 5v/3
Q#16: G.mb/w 1 and 8 is
(a) 2v2Z (b)+2v/2

Q#17: if A &B are tow non-empty set then AUB=7?

(a) @ (b)BUA
Q#18: (AUB) =?
(a)AUB (b)ANB

Q#19:I1f R={(4,5),(5,4),(5,6),(6,4) }then domain of

R=?

(a){4.6} (b) {4,5}
Q#20: In co-ordinates of origin are?

(a)(1,1) (b) (0,1)

pZsEieailzs
(c)excise tax (d)income tax
A A4 A

< blel{dr‘u,uﬂwg J.u“uw/_dwg A
(b)30" Oct to 1% Nov
(d)6" march to 25" April

YW AW
(d)Ratioual numbers

(s L LS S0

(c)Integer

‘10’ called?

(c)charaderistic (d)Ratio
(c) 2" (d) 2™

12,16,21,27 ?c‘:,gﬂflu:‘
(c)31 (d)32

S b3 37 US3V3W3

(c)9v3 (d) 4v3

S Wb AUl d 8l

(c)—2v2 (d) V2
AUB=?4 (s LB SIS

(c)ANB (dBna
(c)(AUB) (d) @

(R)=7 si9sR={(4,5),(5,4),(5,6),(6,4)} FI

(c) {4,5,6} (d) {5.6}
‘gLl L iu
(c) (0,0) (d) (1,0)

2 b G350 0 15
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(Short QUEeStioNS) i | gu e
(10X5=50)_t Z05 L Jly g sl Fh=tiy10f ;29

Q# 1:Express decimal into percentage 1.39°,'0.22". -gdji u’f,w:.;?/d/b«‘i'

_;uwwéva¢§u§ uﬁ‘gugzox,LmﬁJl’cﬁJn%LuxJJukﬁwg

Q#2:A table costs a carpenter Rs. 720 to make. He sells it for Rs.920. Find the percentage of profit he earned.

Q#3 Ifa:b=2:3 find the ratio 6a:2b. _é”ﬁl’” 6a:2bja:b=2:371
Q#4:Calculate Zakat on silver amounting rs.3,00,000. _épl’”'ifj{,u';ngu3:00‘000&)&(561&}'

_(é()’”u:‘,uég%/.l/.i,gidJu,g 155 ped JUs 712
Q#5:The selling price of 12 articles is equal to cost price of 15 articles. Find profit in percentage.
?.7_/«422’1¢;ﬂ;74a>;/'¢,26‘j?(+blgg}fw;/'u:‘a?_u3367iul.7_47;/3640¢2@/;4uf”d!;L%z,j{..g
Q# 6:The marked price of washing machine is Rs.3640 during sale season it is sold Rs.3367.Find discount percentage
_ﬂérk*wgffgufnfu:’é’/g 507 <1916 Q}Jugﬂffﬂ‘ca?_us‘soo@{éﬂgwg
Q# 7 :Price of abicycle isRs.3500 of 165 sales tax is charged. Then calculate the amount of sales tax on 50 such bicycles.
uj/ﬁ'.?,)fz?_)/4oo/;ljﬁq&ar)/ 1500‘,‘1‘5&@)44?_)/1200‘J~§f!z?_u4oouﬁ‘fJJ}@f&»ﬁu‘?uﬂﬁ
?Lf?éﬁ“/yu’giwaufar;/45000§und“tﬁ
Q#8:If gross pay of a personis Rs.45000,Then calculate his net take home salary,after deduction of Rs.400 as

incme tax, Rs.1200 as benevolent fund.Rs.1500 as G.P fund and Rs.400 as group insurance.

Q#9:Write inradical form and evalude result. (27) v ‘éf)/mﬁuffd/zi
Q# 10:Simpling and guve answer in exponential form 4vx32 4\/@]&4} uﬁf’“bf’a}gzmgﬁ/‘?
Q# 11:Write the following in scientific notation.(0.424) 0.424 éu:’(f/“u”v

Q#12:Find the term indicate inrequence 1/3,2/5,..... Qg a/5....2/5 ‘1/3,.{1:(*”(}/6&'

Q# 13:Finde missing elemnts using formula A.P an=a+(n-1)da=10,a,, = 400,d = 5

an=a+(n-1)da=10,a, = 400,d = 55(*’/(}*‘”LL;¢LJ/JW1JK}LG‘7

3 Q)M[%JS)HU)‘M‘%



Q#14:Find G.Mb/w 9 &5 ~US5 009 ’épiqu/é

Q#15:0fA={1,4,7,8},B={4,6,8,9},C{3,4,5,7} Find BU C . -”é(#uuwrds,nw

(Long Questions)wi| gus Ju ol
(3x10=30)-yt £ 10 LIy poee s> F bl 03 12

Q#1:A)Sixmen can paint a huse in four days. How long it would take to paint the house if three mens are employed?

V.?ié.f/i/fu:‘//Zu?LbLef/fu);‘;fuffwiszu:‘ujulgi/f.,gd;fe

b)If 82% of houses have T.V. what is the percentage of houses which do not have?
Uy Uil uﬁuyﬁéihuf;&f’wuyﬁszxﬁ
Q#2:If total annual income of a personisRs.6,25,000 with anemption of amount Rs.1,50,000,Then find ten
chargeable at 4.5%.
_érﬂyug!;!dt?aa}gf4.5z4&»7 :,;n%)/1‘50‘000¢}%7,§n47516‘25‘000('}»T;UVJ(JJ}$..«Q)4'
Q#3:The positive G.M b/w two numbers is 6 & A.M b/w thenis 10, Find the numbers .
e 106378 e 6hesl P = Eolalss
Q#4:1fA={2,3,5,7,9},B={1,3,5,7},C={2,3,456} (ANB)NC=ANn(BNC)
(ANB)NC=ANn(BNC) Jx,C={2,3,4,5,6}B={1,3,5,7}, A={2,3,5,7,9}F
Q#5:Calculate Zakat on 10 tola gold and 40 tola silver if the rate of gold is 40,000 per tola and simver is 500 per tola.

nJ?[}gu5OOO:A}Jd}.lf/)1J;(.}dr)/40‘000¢<’:‘Jeréé(}”ﬁ/JFfJ4dI§J?4O/}’er§10

4 b G350 0 15



81445/22024\adiol a3l

Ay b G50 v, 13 — (,
(Aw)o\.,b\;)\:c))‘” UL{!}:,’;{, Jolale: o5 @b}b
20,4 F w3025 f dgs 17-02-2024:0k  wdmsion
e g ZU?’/(/ u’jﬁ’“: ZUV“")//

w9 pietd: J§ ‘
(MCQ’s) | guut (gui bt & | g
(20x1=20)-¢ A 016Jly g o * b2ty o2 .29

Q#1: Decimal of 325 =

(a)16 (b) 17
Q#2:Basetwoof63is=__

(a)l1l1111, (b)y111,
Q#3: 315+ 445+ 13;=__

(a)143; (b)146,
Q#4:101,+11,=__

(a)1000, (b)100,
Q#5: The set of Rational and Irrational number is called.

(a)Real number )’M‘ﬁa}
(c) Natural number ;'Md/ﬁ
Q#6:3+ 7 =7+ 3. Thissetis

(a)Commutative property b4 el

~e (U #1632, (B L 5U1:01

(c) 18 (d) 19
= < 63 L2002
(c) 11111, (d) 1110,
(c)144, (d)140
(c)1001, (d) 10,

genk Lot Lo g ptios
(b) Proper number s/l -+
(d) Acute number sl >+~
- ey 3+7=7+3:06

(b) Associative property ilf'=?l

(c) Closure property with addition (‘leﬁL J 4 b (d) Closure property with multiplication ..«/3%& J’// el

Q#7: (xy)) = (&y) =
(ax=1/,,y=3 (b)x=1/,,y=4
Q#8:(x+1,y+2)=(5,6) =

(a) X=4,y=4 (b)yxX=2,y=2

Q#9: bc’. b’c’ =
(a)b’c’ (b) b'*c?
b2.b5
Q#10: b8 =
1 1
(a) b (b)b—2

uv
Q#11: Iogaﬁ =
(a) log, u + log, v— log, w— log, X
(c) log, + logv— log w— log x
Q#12: The lower limit is

(a) 500to 550 (b) 400to 420

(@©x=1p,y=5 (dx=1/,y=2

(c)X=3,y=3 (d)X=3,y=2
(c) b’c’? (d) b’c’
b2
2
(c)b (d)g

(b) log,u + log,u + log,v—log, y
(d) log, v—log, w
- M FI12

(c)611to622 (d) 551to 570

1 ol G350 0 oI5



Q#13: The difference of first two lower limits or first two upper limits is called.
-/T'-t'M Jﬁ;&il.zd/‘gufq’l}/ld/nulﬁﬁJ/.b/uﬂfl}‘ld/uu'% 13

(a) Magnitude /& (b) Classified $4zeflz  (c) Tabulation £ Juy (d) Group Data /¥ —*

Q#14: The Arithmetic meanof 2,3,4,5,6,7,8,9,10is=__ -G‘-L/JQPK2,3,4,5,6,7,8,9,10
114
(a) 6 (b) 7 (c)8 (d) 9
Q#15: 53 boys are standing in a row. Find theirmedian=____ ‘érk”::lb«;b/ul_ug;ﬁ/uﬁ%iﬂ53 :15
(a) 27 (b) 28 (c) 30 (d) 35
Q#16: The comparision of two number or quantitiesis called. < l:‘MJ:lIa’» ut“,»/;Luqum» 16
(a) Ration e’ (b) Proportion -
(c)Direct proportion s o (d) Inverse proportion u’}g’ L
Q#17: WhatistheratioRs11.50andRs6.75 V%wgu:‘ 6.75 J)’?L)/ 11.50
117
(a) 46:27 (b)47:27 (c) 48:28 (d) 48:27

Q#18: The length of two iron bars of the same thickness are 6dm and 4dm respectively what would be that weight
of the second bar if the weight of the first bar is 3kg =
_:c‘:.c)bb/é/l}/d/u_c‘, r’fyg3 UJJKZ/U/&_C‘-/‘{,”J{')"G?}?Q leﬁ/}@-/.’/.é%}" Jufﬂr‘uéﬁ;)‘ :18
(a) 2 (b) 3 (c)4 (d) 5
Q#19: Divide 150 rupees among saleem, kaleem and Raheem in the ratioof 4:5:6.
_c‘,c,-{jJul_/.éf:ﬁufc,«fj56/515;4ur(fu;l,{, " ¢3/150:19
(a) 40,50,60 (b) 50,40,50 (c)50,30,50 (d) 50,40,60
Q#20: Shahzad got 40 rupees as pocket money. He spent 24 rupees. What percent of pocket money did he spend.
_g@in@i%Lu’l-EL@i%umLJl_u@}%a?_;/4of;lf .20

(a) 60% (b) 50% (c) 70% (c) 80%

2 b G350 0 15
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Q+# 1 :Convert the following numbers into those of decimal system. (Any two) ‘éJ:/f uf(Uv :«/lﬂ'f’c—rlbj Es5U1:01
(i):2015 (ii):2341, (iii): 102035
Q#2: Convert the following numbers into those of decimal system. (Any two) _gdji uf(lﬁid/lﬁf' :02
(i):101, (i):1110, (iii):101010,
Q# 3: Solve the following and then convert into base-five system. (i)101 + 304
(i) 101 + 304 -ﬂé(f»!ﬂé@;;uﬁ’rtﬁlis;r@cuwtzo_%
Q#4: Name the properties used in each of the following equations. (Any three)
N Pt LU P Jg A1 uﬁ‘u?uuénw{, .04
(i)%+§ = §+% (iV2+(-v2)=0 (iii)3x1, 1x3=3 (iv)3(4+5)=3x4+3x5
Q#5: FindBxAwhenA={1,2},B={4,6,8}. B={4,6,8} s A={1,2} ,?._/é(}l’”BxA:OS
Q#6: Simplify the following numbers in usual form. (Any 2) ();(39/) -é/‘?ﬁ/d}g/ﬂ :06
():(2%)° (i) :x.x°.x° (i) :x.x
Q#7: Write the following numbers in usual form. -ufjuf(f/"(lo :07
():1.034x10° (ii):4.1x 10"
Q#8: Define proportion and Inverse proportion. -’é:»uad/uﬁ” b.wl':nlb.wl': :08
Q#9: Find the arithmetic mean. _/é(}‘”b’ﬂ@w :09
(i):39,28,12,36,41,18,20,37,46,43 (ii):4.3,8.9,6.4,12.9,18.7

Q# 10: The number of attendance of a students in 6 months is 36,46,48,20,47,45, respectively. Find the median of attendance.
_fé(kfgw«)&ugﬁb&uw 45.47.20.48.46:36- 7\ ug/b@uiﬁ’géﬁ’.‘)wu@ 10
Q#11: 8 persons work in a general store whose monthly wages (in rupess) are 300,250,275,300,300,250,300,340,
Find the mode of their wages.
_u%uw.zzufu!-c‘-i.u340,300,250‘300‘300‘275(250‘300af.!;gbéui_ugZ.f(gd;fifui’ufﬂd)?vg: 11
Q#12: Abus covered a distance of 90 kilometers in 3 hours and a train covered a distance of 124 kilometersin 4
hours. Find the ratio between speed of the bus and the train.
,é(kfwu:‘uuf"/;f&‘fd%‘_bm&_}f¥1242_d%‘jw!giyuj’-ff90 Ufég3d_uJ._«g 12
Q#13: 400 persons had a food stock for 6 days. How many persons should leave so that the same food is sufficient for 8 days?
?ﬁd‘v’u;s.ﬂ/}w}fuﬂgédﬂﬁffmrJ!/?Ju)sié,u;;‘;hoo :13
Q# 14: Shahzad got 40 rupees as pocket money. He spent 24 rupees. What present of pocket money did he spent?
NETIP ZK@i%_é@}'%uz4qulu@}‘%?¢u4oﬂf 114

Q#15: A personpaid 56.50 rupees as zakat in a year. Find his savings for the year?

_’érﬁf@géduu@wwm%u56.5oui’du..gé_f..g: 15

3 Q)M[%JS)HU)‘M‘%



(Long Questions)wid| gus Ju ol
(3x10=30)_t #10LJly pc s’ Pty 03 f 109
Q#1: Solve the following with the help of logarithm.  (Any two)
09 e S e snl 5000

(i)4.578x62.16 (ii)85.7x2.47+8.89 (iii)(3.54)6

Q#2:FindXf, x, Zfx. Dand X fxD in the form of a table from the given grouped data.
Marks obtained: 1-5, 6-10, 11-15, 16-20. No of students: 10, 12, 14, 16.
_ugﬁ’fl‘adug..guﬁ.JZ fXDD¢ X fxex( X fe sls* %}'/J:L?uff :02
16.14:12.10:55 8 2 _20-16.15-11.10-6.5-1 : Z0F fb
Q#3: Three partners invested 2,000 rupees, 3,500 rupees and 4,750 rupees respectively in a joint business, their
capitals remained in the business for 6 months, 3 months and 2 months respectively. What would be share of eachina
profit of 4,000 rupees?
LI L0t 253 2y LI LGS ZUF £ 3s8750.513500. 2200027k Uiy 103
%ngl_ﬁiug[c,uf(fia;,/4ooofuf/u§un
Q#4: Apersondied leaving behind him a ‘Tarka worth Rs.30,000 distribute the ‘Tarka’ among 4 sons and 3 daughters so
that each daughters gets half of what a son gets. Find the share of each when a debt of Rs.8,000 is also paid out of the
Tarka'.
ﬂé(#y&ugl-iﬂcéi&uglfqgf:ﬁckuiu:*uyjb3/;1u;;4ff;.v/fi;€giga:,/30000&7“4:04
G P Fe 28000 578
Q#5: Aslam bought cloth at 15 percent discount. He also got 5 percent reduction by paying in cash. What did he pay for
the cloth, the written price of which is 80 rupees.
80ed ot ude 78 W ecbimisy g JLg,Juﬁfl;lﬁﬁ-&éﬁlsx4oépﬁ«zwfw-vy't;{¢{’¢("v .05
S’me{f&m’gw?n%u

4 b G350 0 15
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Q#1: The equation of two ratios is called ------- . - i ——————— PRI Ju;fju
(a) Ratio (b) proportion (c) percentage (d) none of these
o -t e S AL Py -gB]

Q#2: How many types of proportions are there? ?@(LS!Q;{J*/S
(a)2 (b)3 ()4 (d)5

Q#3:33% =7? $=33%
(a)33/100 (b)33/55 (c)33/20 (d)33/10

Q#4: The extremes in the ratio a:b::c:d are called: _u‘?’z_l}f’/ué/gufg/@'a:b: :c:d
(a) a,b (b) b,c (c) c,d (d) a,d

Q#5 In the absence of children, the husband will have a share. _gﬂﬁglﬁ uf;wr’&f;ﬁr (,w J)Ual
(a) 1/8 (b)2/3 (c)1/4 (d)1/2

Q#6: What is the sum of terms of the ratio 1:2:37 -4‘-1!551 :2: 3%«/1’7
(a)6 (b)3 (c)2 (d)5

Q#7: Zakat deducted at arate of -‘40/&6&?/&/‘51,/)
(a)/£2.5 (b)£3.5 (c)/4.5 (d)#£5.5

Q#38: loss is there when. oty :;}J'ul.ﬁ}
(a)SP=CP (b)SP<CP (c)SP>CP (d)none of these

Q#9: The logarithm calculated to the base ‘10" is called:. %UM(E/@LKL{/P JIm1ot g
(@) mantissa (b) common logarithm (c) characteristics (d) natural number

Lg”/.‘:. (B/JK@JJK/({; ~b ;)&8/,3

Q#10: Zakat is one of the pillars of Islam. -c,uga—ufugzl ---------- L,’l}/"o'fj
(a)2 (b)3 ()4 (d)5

Q#11: Usher for natural resources is ---- percent. “LM.}:----/&&ZJ—LJ/VJ(E/}
(a)5 (b)10 (c)15 (d)20

Q#12: Usher for artificial sources is ---- percent -4‘-,«!:;—---/“&2.6'/55!’”
(a)5 (b)10 (c)15 (d)20




Q#13

Q#14

Q#15

Q#16

Q#17

Q#18

Q#19

Q#20

profit is there when:

(a) (SP)(CP)

: Atax which is paid directly by the person on whom it is imposed is called.

(a) Direct Tax

3
Jg I ITIA

(b) SP-CP

(c) CP-SP

o bSOk

(d) CP+SP

S e bl el s S5 fee RN ,ng LI K

(b) Indirect Tax (c) FED

S i

S5

: Atax that exceeds the value of a commodity is called a tax.

(a) Direct Tax (b) sales Tax (c) FED

A, K B
: Percentages are denoted by ----- symbol

(a) + (b)/ ()%

1 log x-log y

(a) logx/y (b) logy/x (c)log 1/xy
: How many laws of logarithm are there?

(a)3 (b) 4 ()5
:AP17,13,9,........ hasacommon difference.

(a){4.6} (b) {4,5} (c) {4,5,6}
: Between 2 and 8 is the Geometric mean.

(a)16 (b) 4 (c)8

(d) sales Tax

Sk
,ugii‘fgugm;oxf‘f/ju’{

(d) interest

)y
Y g Egv
(d) #
log x- logy
(d) log xy
(LB E L
(d)6

e O SFEl1713.9687
(d) {5.6}
b AUl E 812
(d) 2
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(Short QUESTIONS) ! gust et
(10X5=50)_ ¢ £ 05 L Jly pc s Fé=tiy10f ;29

Q#1: Convert percentage to common fractions: 19¥% 19X-/éd,€ JrU}/(lpi/Mg
Q#2: Convert decimals to percentage: 0.003 0.003_5 Jni’ u’f/uﬂ.{'fdztﬁf'
Q# 3 Write the definitions of ratio and proportion.. -’é &@./;’.Jg/l':u'ca{“’.
Q#4: Write the fraction in simple form.1.5:0.45. 1.5:0.45-/5&tusz/
Q#5: Calculate the Zakat on a worth of Rs.5500000.. -u:lé gugsj'/)/?é_n:,{u%ussooooo
Q#6 Write in Scientific notation. 0.33789 0.33789_"5 u:‘(i"/"u’v
Q#7: Write in standard form.6.12%10" -gdfyd/&#?% 12%10”
Q#8: Write as a single logarithm. logx3 +logx3 _/.é uf&/ﬂJ(EJK)JVQIOQXB +logx3
Q#9: Write the following in exponential form. log,, 1000=3 -/‘éufu:«;”fdj}g/ﬂlogm 1000=3
Q#10:an=3n- Find the first five terms of the following series. _2(51”//»@& ul"f'(gufiﬂjjig/ﬂan=3n-8
Q# 11:Find the required sum of the following sequences. 7,8,10,13,1.... .alo-’ér}’”g/,}wﬂfg”dién
7,8,10,13,17,...a

Q#12: Find the Arithmetic mean of the: 6 and 15 15.16: é(}l”b’:d;
Q#13: Find the three Arithmetic means between 12 and 25. _ﬂé(#’»,d‘?ufuyué,z 5312

Q# 14 :Write the formula for finding the Arithmetic Means between the sequences.

‘/éﬂy‘/ﬁ £ KL 8- s Lu)'»
216x6.1/3 216x6.1/3 .5 %
125v9) a ) (125v9) ' é/ﬁ

(Long Questions) | gm Juisda
(3x10=30)-tt £ 10 LIy pog- s Pt 03 f 129

Q#1:Afirm's heating and lighting costs in winter are Rs.40,000. The ratio between heat and light is 3:2. Find the

Q#15: Simplify (

cost of heat and light §eparate|y. ) )
-é(ﬁ’&@ﬂﬂé@)//}l&/l]-q_wds:2u.l(‘/:ifu/)'.“«/']-zz_%)/40‘000 a@g@;u;’(}/'](j(/'..«guff}’ Lu{:/
Q#2:Aman left behind wealth worthRs.74,00,000, a widow, a son and two daughters, find the share of inheritance of each.
,ér}”.ﬁga}"i/)(}/ug/;m,f}{u&%)uﬂlﬁ’;;..gwﬁ4@‘)})‘5&3&%)/74;00‘000é"%’d’_uﬁwg
Q#3: Three meninvestedRs 150,000, Rs 1,20,000 and Rs 1,70,000 respectively, how will the profit of Rs
3,87,200 bg divided.between them?.
T c/’J((jbwg%u&s7‘200uy»£,utaé%u1‘70,0001,!,1,20‘000%}1150‘000.,&@Lu::‘;!'uf

..d’z:—xbc’y—i xcﬂ/-y—:-, y#=0
Q#4: Simplify ;X2 3 =

Q#5: Find the five Arithmetic Mean between 15-and 15. _/.é()b‘”bﬂd‘? é& uy/)2,15/;'-15
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Q#1:In2X::18 X is called---- —e b UE2:X: X118

(a)extreme uff/ (b)7/mean_/l§u£/; (c)3rdProportinaI*fl':'/5(d)Fourth Proportional _,,«W}g

Q#2: L
. 8 - -
(a)37.5% (b)1.25% (c)12.5% (d)8%
Q+# 3:Relationship between two or more Proportional is called. ?4‘, lrllf.--_[}w s Lu;f” u)&);»&»
(a)Compound Proportional (b)Direct Proportional(c)Inverse Proportional (d)None of this
Q#4:60% =
5 3
(a) = (b)6 (c)60 (d) =
3 5 B
Q#5: Nisab of gold for Payment of zakat is: ——c .'Amj KLriLﬁ IJ'J'SKJ
(a)7 .5gm (b)87gm (c)52gm (d)609gm

Q#6:Usher is -‘-_%&@Juﬁfu@}‘

Payable after:

(a)One year (b)Six Month (c)Every harvest (d)Calculation the profit
/-’Ul/ug #ol.6 4(3&([ 48
Q#7: Cost Price isRs675 selling Price isRs621 loss is %: - C/:' JuLﬁJ Jy621 &35) og/)‘ ¥ 675 ,3]'
§s
(a)54% (b)2% (c)4% (d)8%
Q#8: Selling price isrs207 Profitis 35% Cost Priceis .5;’:-__-4.]’&4’:.;,%’:358]/}';?%5/207 w;/ag
(a)Rs203.50 (b)Rs 214 (c)Rs 200 (d)Rs210.50
Q#9:Exicse duty is imposed on. -c‘—&l‘aéé&ﬁflé'
(a)Cooking Oil (b)Vegetables (c)Cigarettes (d)All of them
Sibs s 0y 4t
Q#10:Gross income is the income of . .cr&n“__[}»nfr{
(a)A week (b)A Month (d)A Year (a)Life time
Y Joltl S AL

1] SO Y



Q#11l:gasismeasuredin .

e Qe S Y

(a)HM’ (b)HM’ (d)H*M?
Q#12:Property tax = ? ——- =§_Jgd4!4
(a)Rate +Value of property (b)Rate-value of property (c)Rate x value of property (d)None of this

cfidered i od

Q#13:Arithmatic mean between 2v3 and 6v/3 is

(a) 8V3 (b)24
1 4
Q#14:Geometric mean between 5 and 5 is:
4 5
t- b))t =
(a)x 9 (b))x 3
Q#15: General termof G.P is:
(a)ar™ (b)a +b (c)FVab
Q#16:{2,4,6,8} isthe set of first four __ numbers
(a)odd (b (b)Even =&
Q#17: AUA = ?

(a)u (b)A
Q#18:(ANB) = ?

(a)A"UB (b)A'NnB

Q#19:IfAUB =@ ,then A and B are

(c)integers 54

(c)(AUB)

2 Bidoxed HiFe o

c;,“‘_d‘? s £ 6V3 1243

(d) 12v3
Sl Ul L
5
()t 5
.c‘:,-__-(/)’d)?JG. P
(d) \/gp

el biff o pdt (2,4,6,8)
(d)prime J/’

(d) @

(d)(ANB)
Ut ——-B I AVt AUB=0 FI

(a)empty setsqdl} (b)equal setsew s, (c)overlapping:twc}’tc?} (d)clipjoint sets&f{fy/

Q#20:Thesetof {0,+1,+2,+3..}is____
(a)set of natural numbers
(b)set of whole numbers
(c)set of prime numbers

(d)set of integers

e {0,+1,+2,+3..}
ui:wg;’ﬁ’&/,s

&f@’ﬂ’f

&{K}'ﬁb}'fo’

.bfg)’/&’é’é

2 b G350 0 15
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(Short QUESTIONS) i | gus i
(10X5=50)_ut £ 05 & Jly st Fhtir10f : 29

Q#1:In what ratio 52 be increased to become 917 02 Ll91 x5 52 u’fwlﬁ'gf
?Jcéuk]Lgf/LlfLJf10:000/518000..«27[,dk;gb@'951450/ﬁ'95132SL(?/)’)«/F”

Q#2: Shumaila and Hina saved Rs.325 and Rs.450 out of the monthly salaries 0ofRs.8000 andrs.10,000
respectively who saved more?
Q#3 Find LI in the following proportion. g: X i % :% "ép"”x
e FE p S frar gl F p Sl b S & 16 6 E 10 F L]
Q#4: Acyclist travelled 10km in 16 minutes Maintained the same speed how much distance would he travel in 24 minutes?
e eed ey Luie A gt £35586) ¢ G1e 62502
Q#5: Shahnaz paid Rs.6250 as zakat on her jewelry Find the value of her jewelry.
Se g 3s285248 NMusle_s,23 .ny;’.?"é()’”:m/'og
Q#6 Find the selling price when Marked price= Rs.285, Discount= Rs.23.
_gfn&fmﬁ“/‘f‘(idn’win,wé 7J~@~’f!d§3oooood%§ugé_dn’ug
Q# 7: APerson bought a new car that cost Rs.30,0000 if sales tax is7 % what is the total amount that the person must pay?
Q#9:Define geometric sequence. -éuy/"tf,ufd/
?’é:/,e.bywudcb@?ns: [a ,b]b"g‘A'A:[a,b,c]f'
Q#10: IfA= {a,b,c} andB: [a, b] then verify commutative property of intersection.
?zﬁph”Jy!uéb@tgug»/;LB/;!AJnB: [3,4,510x A: [1,21F]
Q#11:I1fA: [1,2]andB: [3,4,5] thenwrite 4 binary relations from B.
.”é(ﬁ‘,ﬁiuﬁfuqduﬁiﬂé 3?6&5;/&%:;5826}(.@
Q#12: Awatch was sold at Rs.582 by suffering a loss of 3% find its cost.
LA AINE A L0220 3L S M S M i b (6 21e 10120 0is0057 ]

Q#13: AworkerisgivenRs.120 a day if he worked on Sunday he would be given Rs.220 calculate his.

Q# 14:Define geometric sequence. -é.yﬂf,uf L}/‘
Q# 15:Define inverse and direct proportion. vébg/?JJF” Iy

3 Q)M[%JS)HU)‘M‘%



(Long Questions)wi| gus Ju ol
(3x10=30)-yt £ 10 LIy poeo s> F by 03 12

Q#1: Najam, Niaz and Nadeem entered into a joint business by investing Rs.100,000 Rs. 87500 and Rs.65000

respectively After 6 month they earned a profit of Rs.3939 Find the share of each in the profit?
erﬁ-inébﬁK%)/393950’MDL6L64;)/6500 0/,!%}/87500%,/1oo,oooui”/gwf;}‘vg’g@uugf
L by
Q#2: A person left behind assets worth Rs.336,830 on his death A debt of Rs.140,000 was payable by him to a bank

1.2
Remaining amount was distributed among his widow, mother, father and two daughters in the ratio of— —I=i=

663
1112

ngggu“uﬂ 2»!.4‘ub‘méﬂiﬁ/dgmLLﬁ;U}L@_u 140000!////";%’;,{?%124?_;/336830&7..9
b oA =
Q# 3: Verify associative properties 0f union and intersection for the following given sets.
L={0,+1,+2,+3, +4, +5} Jédw;& (JLL“MGJ Gy Lyt S i
M={-1,-2,-3,—4, -5}
N={+1,+2,+43,+4,+5}
Q#4:Find fine geometric means between% and % _é")’”»}d/‘ék s L%u%

Q#5:20 employees get Rs.85000 for 17 days work. How many employees will get Rs.62500 for 25 days work.

?Z,ufa?_uszsooé,f,»ng51»/2&)32“&?_,1850002,)’(&@)17/»)20

4 b G350 0 15
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(MCQ’s)
Q1: Encircle the cormrect option: 1x5=5
01:” Struggle means:
a)Effort b) Hard work c) Attempt
02 :Meaning of “harmful” is:
a)dangerous b)Weakness ¢) Natural ability
03: Patriotism" means:
a)brave b)nationalism c)dull
04:Synonym of " love® is:
(a)Laziness b) Bore c) hate
05: Wounded" means :
(a)Injured (b) healthy (c)ill

Q2: Choose correct form of verb according to sentence. 10x1=10

d) All are correct

d) none of these

d) none of these

d) like

d) all of these

01:The bell ------------

a)Rung (b)rang (c)ring (d) had ring
02:The thief------------ away .

a)runs b) hasrun c)ran d) running
03:My brother ------------- aletter .

a)Writes b) write c) written d) writing
04:The winter has ------------ toanend .

a)Will came b) came C) come d) coming
05:They have ........... their meal.

a)take b) taken c) taking d) took

1 BON VRIS YWIE g



06: | -—=-mmmmmeeemo a cricket match .

a)Play b)plays C) has play d) had play
07:The moon --------- early

a)Rise b) rose c) will rising d) shall rose
08:They ---------- lunch now.

a)Were taking b) taken c) are taking d) take
09:Ali has ------------- the prize.

a)Won b) will won ¢) had been win d) wins
10:1 have --------------- my breakfast.

a)take b) taken c) took d) takes

Q3: Choose correct Parts of speech to complete the sentence. 1x10=10

1. Hedrank ------------ to death .
a) Myself b)himself c) themselves d) herself
2. Aslam ------------ paid his dues.
a) Himself b) herself c) myself d) none of these
3. lam-------- university students.
a) a b) an c) the d) that
4. He returned after ------------ hour
a) a b) an c) the d) for
5. Aliis------------ best student in the class.
a) to b) an c) the d) of
6. lwent----------- the school .
a) to b) from c) the d) of
7. llive... Faisalabad
a) In b) at c) to d) the
8. The Childrenran -------------- the flower.
a) Upon b) below c) beside d) smart
9. Where ------------ he now?
a) Is b) are c) the d) had
10.He is -------=--=----- good teacher.
a) an b)a c) of d) the

2 b G350 0 15
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Q#1: Answer any 5 of the following questions. 5x2=10

1D  Where does the hope perch?

2) How should we react in the wake of defeat or victory?
3) Write the qualities of the man of life upright?

4) What is the very essence of discipline?

5) Why is nursing a suitable profession for women?

6) How should we face the problems?

7) How can a teacher show parasitism in teaching?

Q#2: Translate into Urdu any two of the following paragraph: 5x2=10

a) Sports also develop and encourage the spirit of healthy competition. The competitive
instinct is natural in man. Sports have a wide scope for the competitive instinct.
Matches, tournaments and contests are held to test the
Test skills, stamina and endurance of various participants. .

b) A true patriot loves his country passionately and proves his love by rendering valuable
service with dedication and sincerity for the prosperity of his country and nation. His
distinctive mark is that he never prefers his personal interest to national interest.

c) The very essence of discipline is obedience. We may say that the first lesson a child
has to learn is the lesson of obedience. Then he/she must be taught how to behave,
how to develop good habits and how to avoid wrong doing

Q#3: Write down only one summary of the following poems. “The Rainy day”/
The man of life upright .10

Q4: Change the voice of the following sentences (only ten). 10x1=10
1) We won the match.
2) I advised him to come in time.
3) They are taking the lunch now.
4) I am reading a book.
5) He has done his work.
6) The teachers have call the roll.
7) I have not paid my loan.
8) We had already learnt this lesson.
9) Obey him.
10) Never waste your time.
11] We were solving this problem.
12)You have improved your skKills.

3 SO Y



Q#5: Write only one Letter from the following: 10

a) Write a letter to your friend asking him to lend you some books
(OR)
Write a letter to your father asking him about the health of your mother.
Q6: Change the following sentences into negative and interrogative.10x2=20

1D The top of the hill was high. (change into negative)

2) They go to school. (change into negative)

3) The water was cold. (change into negative)

4) He was angry. (change into negative)

5) He has learnt his lesson. (change into negative)

6) He was a good boy. (change into negative)

7)  He is a lucky man. (change into interrogative)

8) These are red flowers.(change into interrogative )

9) He wrote a letter. (change into interrogative)
100 Ahmed wentto a garden.. (change into interrogative)
11) The clothes were dirty. (change into interrogative)
12) Iam a Muslim girl. (change into interrogative)

b

Q#7? Translate any 15sentences into English =15
S G el T3 e KLU 222 eS|
~UE 126 e F PS5 WS
_Jn(j‘/mj/y —1-9 -wa/pg,sumﬁ-fﬁ -‘Ll[/t’ucgi)é-7
e bl 1512 - I 7 Sl us1-10
Ua@yz@;/&abf/,(’y‘_IS _‘LQ/;)&Q}(U;)/{JL-14 ‘Ly/u’gul?ﬁé,w-l3
U S A8 NEWNIIT AT, Bl £ (i 16
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(MCQ’s)
Q#1: Chose Correct synonyms: (5)
1-Chaos
(a)State (b)Confusion (c)advent (d)unmatched
2-Demolish
(a)build (b)distraction (c)destroy (d)disbelief
3-Value
(a)worth (b)wealthy (c)worthless (d)intelligence
4-Impressive
(a)ugly (b)remarkable (c)largest (d)light
5-Gradually
(a)Fastly (b)Rapidly (c)Slowly (d)Suddenly
Q#2: Choose correct verb according to sentence. (10)
1-1am happy that all of you__ here yesterday.
(a)has come (b)came (c)come (d)will come
2-.she _ give the examination next year.
(a)will be (b)will have (c)will (d)will had
3-Please _ us books.
(a)sent (b)will send (c)send (d)to send
4-Who ___ the door?
(a)is knocking (b)has knocked (c)dose knock (d)had knocked

5-She since morning?

(a)ls sleeping (b)was sleeping (c)will be sleeping

6-1t _ atpresent.
(a)rains (b)rained (c)israining
7-1 __ my work from next week?
(a)start (b)shall start (c)have started

8-.He __ toustomorrow.

(a)comes (b)will come (c)will came

9-We Faizan-e-Madinah.

(a)already visited (b)had already visited (c)has already visited

10-the child crying from two hours.

(a)ls (b)was (c)has been

(d)Has been sleeping

(d)was raining

(d) will be starting

(d)shall came

(d)visiting

(d)will be

1 b G350 0 15



Q# 3:Choose correct option according to grammar.
1-lam___ university student;
(a)an (b)a (c)the (d)or
2-“May” is used for
(a)probability (b)ability (c)obligation (d)purpose
3-She is a pretty girl underlined verb is
(a) adverb (b) adjective (c)article (d)noun

4-1 have almost finished my work. underlined verb is

(a)noun (b)preposition (c)adverb (d)adjective

5-Fish live in water. underlined verb is

(a) adjective (b) noun (c)pronoun (d)verb
6-1 was grieved his loss
(a)in (b)with (c)of (d)at

7-Allah helps those who help

(a)they (b)them (c)themselves (d) those selves
8-she was absent class
(a)by (b)from (c)at (d)with

9-Alas! She is dead now.The underlined word is an interjection expressing

(a)hesitation (b)doubt (c)griefor pity (d)surprise
10- Her foot is injured in accident
(a)had (b)some (c)few (d)badly

(10)

2 b G350 0 15
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Q#1 Answer any five of the following Questions. (5x2=10)

1-Why was the Holy Quran Sent in Arabic? 2-What are the Qualities of patriot?
3- What are the causes of drug addiction? 4-How do you define noise pollution
5-Why is noise dangerous for human health?  6-What message do you get from the life of Hazrat Asma (l,;f‘u“dlu‘/)

7-What did Hazarat Ayesha(lf’v‘éti!’(jb/) say about thy life of the Rasool(g@iﬂ)?

Q#2: Translate into Urdu(Any Tow) (2x5=10)

1-The preparation of this journey was made at the house of Hazrat Abu Bakr Siddique(;ﬂdﬂu"/) Hazrat Asma( u:’/
Wﬂﬂ) rendered useful services is this regard.

She prepared food for this journey .She tied the food on the camel back with her own belt as nothing els could be
found. For this service she was given the title of zat un nataqainby Rasool ((fﬂlk;d)

2- stood still,until her family come around with big smiled on their face. Thanks to Allah,she was my patient,
standing and walking on her own feet.| could not recognize her without the machinery and tubes around her
body.She walked on crutches which she would leave in a few months. | was glad that my efforts bore fruit. But most
of all I was happy that Allah Aimighty had helped me win a lost battle.

3-And the Rasool ﬂ%ﬁ'ﬂ did go the way Allah. Almighty had chosen for him. Imbued with divine guidance and firm
resolve, the Rasool gﬂ;%fﬂ encountered all the challenges with grace and dignity. In no time he elevated man to the
highest possible level in both spiritual and worldly domains. He was also a driving force behind the Arab conquests,

which created an everlasting Impression on human history.

Q#3: Write a Summary (Any one) *Daffodils ® Stopping by woods (10)
Q#4:Change sentences into Passive voice (Any 10) (10)

1-My mother teaches me. 2- Who makes a noise. 3-He ate apple.

4- They will pass the test easily.  5- | amreading a book. 6- We were enjoying this story.

7- Shut the door. 8- We have already learnt the lesson. 9- She called him a thief.

10- The tortoise wins the race. 11- My friends deceived me. 12- The patriots sacrifice their lives for their country
Q#5: Write a latter. (10)
*Write a letter to your father asking him about the health of your mother. or

® Write a letter to your parents about your good result.

Q#6: Change sentences into negative & interrogative. (Any10) (10)
1-1 saw a bear in the forest. (change into negative)
2- This child breaks his toys (change into negative)
3- My brother purchased a ceiling fan (change into negative)
4-1 have access to the Nazam (change into negative)
5- 1 shall alter my plan (change into negative)
6- The patient will recover soon (change into negative)
7- 1 had been studying since 5pm (change into interrogative)

3 Q)M[%JS)HU)‘M‘%



8- She will be Eating a cake

9- We went to Madina.

10- Ali deals in bales of cotton.

11- These books have been included

12- This shopkeeper sells flowers
Qit6: Translate into English . (Any15)

?J}fJ’/E f—3
créuuc_ﬁ//u{.-G

< L ST R 50
ugz_gn“/?é-lz

“; q,/g}fdg .t)c;/lgd}’u/-ls

(change into interrogative)
(change into interrogative)
(change into interrogative)
(change into interrogative)

(change into interrogative)

(15)
e A WS G2 e LA e G e
S JWIEEE 55 Ui F L) e
GZF 2T aipfis Gl TuliretfuduieT
fﬁfﬁ}cfﬂt’gwf-ll ?Z,ufr’;?b_;l'-lo
ﬁunéfﬁr&gi»:-m ?ug@lpgyffawu-m
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Q#1: Attempt all question from this section: 25x1=25
1. Meaning of is “in poor condition.

(a)Shabby (b)Collapsed (c)Borne (d)Weathered

2. The Chenab flows near Chiniot. (underline word is:)

(a)Definite article (b)Indefinite article (c)Pre position
3. the driver had the bus.

(a)Stop (b)Stops (c)Stopped
4.Meaning of is causing or ending in death.

(a)Fatal (b)Constant (c)Intense

5. The children saw a lion in the zoo.

(a)Present indefinite (b)Present perfect (c)Past indefinite
6. An/A is a word which describe the meaning of verb.
(a)Adverb (b)Adjective (c)Noun

7. Meaning of opinions is: .

(a)Thoughts (b)ldeas (c)issues

8. The children are around the flower Bad. (Underline word is:)

(a)Interjection (b)Conjunction (c)Preposition
9. In past perfect tense we use form of verb.

(a)1* (b)2" (c)3"

10. Meaning of “destitute” is: .

(a)Rich (b)Poor (c)Very poor

11. | shall believed it (Correct the verb)
(a)Believes (b)Believed (c)Believing

12. Aslam and Asad attended the party. (Underline word is:)
(a)Conjunction (b)Interjection (c)Preposition

(d)Conjunction
(d)Stopping
(d)Chills
(d)Past perfect

(d)Pronoun

(d)Both
thoughts and
ideas

(d)Adverb
(d)4" (Ing)

(d)Middle
(d)Believe

(d)Adverb
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13. Meaning of ‘vacant’ is: .
(b)Empty

(a)Dirty (c)Robbed

14. Structural formula of present perfect is.

(a)Subject+has/have+ver (b)Subject + (c)Subject +

b1*'form+object. has/have+verb2™ form has/have+verb3™ form +
+ object. object.

15. Please listen me.

(@) In (b)to (c)onto

16. She was sleeping for two House. (Correct sentence is:)

(a)She was been sleeping (b)She had been

for two hours. sleeping for two hours. hours.
17. He is absent class.

(a)By (b)With (c)At
18. A/An is a word used to express a strong feeling.

(a) Conjunction (b)Interjection (c)Preposition

19. The watchman blew his whistle. (Underline word is:)

(a)Verb (b)Helping verb (c)Adverb

20. The correct sentence is.

(a)She speak truth (b)She spoke truth (c)She was Speak truth
21. Slama enjoys playing Tennis. (The noun is:)

(a)Salma (b)Enjoy (c)Playing

22. Do | ate an apple? (Correct the sentence:)

(a) Did | eat an apple? (b)Do | eaten an apple? (c)Did | eats an apple?

23. She had been walking in the park 9am.
(b)Since
24. He will be Help the needy by now. (Correct sentence is:)

(a)He will Helped the (b)He will have Help the (c)He will have helped the
needy by now. needy by now. needy by now.

(a)For (c)From

25. You will go to Madina. (The pronoun is:)

(a)You (b)Will (c)Go

(c)She had sleeping for two

(d)Pointed

(d)Subject +
has
been+verb3™
form +
object.

(d)on

(d)She had
Being sleep
for two
hours.

(d)From

(d)Verb

(d)adjective

(d)She
speaking
truth

(d)Tennis

(d)Do | eaten
an apple?

(d)At

(d)he will have
been helped
the needy by
now.

(d)Madina
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Q#1: Answers any 5 of the following questions: (5x2=10)

1. Why did shah Latif not marry again after his wife died?

2. What are the most common disease caused by mosquito bites?

3. Which two of the three diseases have similar symptoms? What are these?

4. How is the immune system affected through dengue?

5. Why did the lanes in the village become slippery in the rainy season?

6. Why do most parts of Pakistan have flood problem in summer?

7. Why did the king want to find the answer to the three questions?

Q#2: Translate the following paragraphs into Urdu. (Any 2) (2x5=10)

1. In the year 10 A.H, the holy prophet Muhammad (£) undertook his fare well pilgrimage
to Makkah this fare well pilgrimage is one of the most significant historical Event for the
Muslims, for it was the first and last pilgrimage made by the holy prophet (¥)

2. The saint replied “your question Have already been answered first the most important
time was when you wanted to help me. the most important work was the digging of the
ground. And | was the most important person for you had it not been so, you would have
returned and been killed.

3. Revers have always played a very important role in the life of human beings. They have
served as trade routes from the earliest of times. Before the building of roads and railways,
most trade was carried on by boats and ships along rivers.

Q #3: Write the summary of the poem. (Any 1) (1x10=10)
1) “The miller of the dee” (OR) 2) “The daffodils”
Q#4: Change into voice. (Any 10) (10x1=10)
1. The teacher is calling the roll. 2. The gardener had plucked the flowers.
3. Do they caught birds? 4. Smoke cause pollution.

5. The watchman is opening the door. 6. Birds had built: nests.

7. The dinner is prepared by her. 8. Will he repairs his cycles?

9.The housework has been done by Sheeba. 10. Ali was not drawing a diagram.

11. Will they have won the match? 12. The dog does not chase the cat.

3 @M%S),{L)‘)‘M‘y\f



Q#5: write a letter to your father requesting him to send you some amount
of money to take admission in. the evening I.T class. (10)
IIOR"

write a letter to your friend about your future plans after passing SSC exam.

Q#6: Change into Negative and Interrogative (Any 10) (10)
1. We had already learnt this lesson. (Change into negative)
2. We Ware enjoying a sound sleep. (Change into interrogative)
3. The doctor has felt the patient’s plus. (Change into interrogative)
4. | shall lend you, my camera. (Change into negative)
5. He did his work with deligence. (Change into interrogative)
6. | have been walking for two hours. (Change into negative)
7. She will teach then English. (Change into interrogative)
8. Did she learn the lesson? (Change into negative)
9. | have not been watching Madani channel. Since 9 o’ clock. (Change into interrogative)
10. They were making a noise. (Change into negative)
11. She had been studying since 5 pm. (Change into interrogative)
12. Will she stay at home? (Change into negative)
Q#7: Translate into English. (Any 15) (15x1=15)
-',«“]'&JVJ; /,L.,ou/ﬂm,/:-z ?‘Lpz.,)ulg:{,z.,ﬂu;cwu’m -1
s S o”? U4 of §.f Mo I 28 _L(Iasl_3
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(MCQ’s)
Q#1: Encircle the correct option: (25)

1------- would be a synonym of struggle.

(a) hard (b) effort (c) defeat (d) dull
2------ would be a synonym of objective.

(a) aim (b) mission (c) purpose (d) all of these
3------ would be a synonym of deed.

(a) action (b) reaction (c) response (d)intelligency
4onneee- would be a synonym of precious.

(a) cheap (b) low (c) small (d) costly
5--m--- would be a synonym of wise.

(a) innocent (b) clever (c) dull (d) low
6- The sun ------ in the west. Choose correct form of verb.

(a)set (b)to set (c)sets (d)setting
7-. He --------- at the top of the K2. Choose correct form of verb.

(a)reach (b)reached (c)reaching (d)reaches
8- -------moo- a book yesterday. Choose correct form of verb.

(a)buy (b)buys (c)buying (d)bought
9- How do you ------------ ? Choose correct form of verb.

(a)feel (b)feels (c)feeling (d)felt
10- My daughter is --------------- well. Choose correct form of verb.

(a) grow (b) growing (c) grows (d) grown
11-1--------- food daily. Choose correct form of verb.

(a)eat (b)eats (c)ate (d)eaten
12- May | ---------- in? Choose correct form of verb.

(a)come (b)came (c)coming (d) none of these
13- The boys ---------- football, choose correct form of verb.

(a) playing (b) played (c) play (d) plays
14- He ------------- me a secret, choose correct form of verb.

(a)tell (b)tells (c)told (d) none of these
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15- They -------- in field, choose correct form of verb.
(a)work (b) worked (c) worka (d) working
16- How many parts of speech are there?
(a)9 (b)7 (c)5 (d)6
17- The word that is used instead of a noun is called:
(a) verb (b) adverb (c) noun (d) pronoun
18- The book was very useful, underlined word is called:
(a) noun (b) pronoun (c)article (d) verb
19- A word used to describe an action, state or occurrence is called:
(a)noun (b) adjective (c)verb (d) adverb

20- He helped me happily, underlined word is called:

(a) noun (b) adjective (c) verb (d)adverb
21- where is ----------------- staffroom?
(a)on (b) in (c)the (d)with

22- How many numbers of articles are there ?
(a)2 (b)3 (c)4 (d)5

23- She is a lazy girls, underlined word is a/an.

(a)noun (b) adjective (c) verb (d)adverb
24- choose a correct preposition. ”] am worried---------- exams"

(a)in (b)about (c)on (d)of
25- choose a correct preposition , she suffer-------------- fever".

(a)from (b)of (c)due (d)but
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Q#2: Give any 5 answers of the following questions: (Any 5) (10)
1.Who was Hazrat Khadija and where she was born?  2.How did Hazrat Khadija spend her wealth?
3.Describe two nations theory. 4 .How is water polluted?
5.What care should be taken at crossroads? 6.What is a balance diet?

7.Why are forests “greengold” for Kashmir?

Q#3: Translate the foIIowmg paragraphs into Urdu. (Any 2) (10)
|.Hazrat Khadija L/wu"/ was very pious, modest and noble. Because of her piety, the people of Makkah called her
"Tahira". Tahira means, the pure one. As she was very wealthy, a lot of Arab nobles wanted to marry her.In 595 A.D.
Hazrat Khadija L/amtu“, was looking for a trustworthy man to be the in charge of her trade caravan to Syria.

I1.There are millions of mills, factories and industries which manufacture goods of different kinds. The chimneys of
these mills and factories also release poisonous smoke. Moreover, these factories use many kinds of poisonous and
harmful chemicals. A lot of waste matter produced by the mills and factories is drained out into streams and rivers.
This contaminated water is dangerous for fish and other contaminated aquatic organisms.

I11.Food does the same to the body as the fuel does to a machine. A car needs petrol or gas to run. In the same way,
the human body requires food because it provides energy to the body. It enables the body organs to perform
different functions. Food consists of proteins, carbohydrates, fats, minerals, liquids and vitamins.

Q #4: Write a summary on one of the following topics. (10)

(i) "Mothers and Others®  (OR) (ii) "Thanks for everything”

Q#5: Change the voices of the following sentences.(Any 10) (10)

1.1 defeat my opponent. 2.They watch the Madni Channel. 3.Kids are playing cricket.

4.You are not telling the truth. 5.Ask a question. 6.Wash your hands.

7 .Sadia eats an apple. 8.She presses the clothes. 9.We read newspaper every day-

10.1 am reading a book. 11.They are taking lunch now, 12 .0ur team will complete this assignment in time.
Q#6: write any one letters from the given. (10)

1.”To your cousin asking her to inform you about his program during summer vacations" (OR)

11.”To your uncle thanking for his gift“

Q#7: Change the following sentences into negative /interrogative sentences.(any 10) (10)
1.He works day and night. (change into negative) 2.1 amreading a book. (change into negative)

3.1t has been raining since morning(change into negative)4.He is reciting the Holy Quran. (change into negative)
5.1 go for a walk daily. (change into negative) 5.0ur Jamia starts at 8 am. (change into negative)
6.They are taking lunch now. (change into negative) 7.l ate an apple in the morning.

8.He is reciting the Holy Quran.(change into interrogative) 10.We won the match. .(change into interrogative)

Q#38: Translate“the following sentences into English. (Any 15) (15)
-ufﬁlﬁ/l:w/uﬂbd/fﬁ _éc./f('/'bfaiﬁ»f 2 -La?g/é)uz{.(jﬂ/j’/@-l
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‘.LO'Z/}’J/L == g)(-12 St e sls-11 ‘.Mu“u’/fd“ 10
MLWU"..ALC’JL 15 ’A]&JVJjﬂLJJUL—/ 14 e LU UL 413
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Q#1: Encircle correct option: (5x1=5)

01: “Strangest” means:
(a) usual (b) stranger (c) routine (d) unusual

02: The word “inspiration” means:
(a) a useless idea (b) a boringidea  (c) a brilliant idea (d) a slow process

03: Synonym of “ruined” is:
(a) constructed (b) cured (c) destroyed (d) created

04: “Wound” means:
(a) force (b) sound (c) injury (d) recover

05: Synonym of ‘gracious” is:

(a) grade (b) angry (c) polite (d) boring

Q#2: Choose correct form of verb according to sentence. (10x1=10)
01: | am happy that all of you here yesterday.

(a) has come (b) came (c) come (d) will come

02: She give the examination next year.

(a) will be (b) will have (c) will (d) will had

03: Please us books.

(a) sent (b) will send (c) send (d) to send

04: Who at the door?

(a) is knocking (b) has knocked (c) does knock (d) had knocked
05: She since morning.

(a) is sleeping (b) was sleeping (c) will be sleeping  (d) has been sleeping
06: It at present.

(a) rains (b) rained (c) is raining (d) was raining
07: 1 my work from next week.

(a) start (b) shall start (c) have started (d) will be starting
08: He to us tomorrow.

(a) comes (b) will come (c) will came (d) shall came
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09: We Faizan-e-Madinah.

(a) already visited (b) had already (c) has already
visited visited

10: The child crying for two hours.

(a)is (b) was (c) has been

Q#3: Choose correct option according to grammar.

01:1am University student.

(@) an (b) a (c) the

02: “May” is used for .

(a) probability (b) ability (c) obligation

03: She is a pretty girl. Underlined word is:
(a) adverb (b) adjective (c) article

04: | have almost finished my work. Underlined word is:

(a) noun (b) preposition (c) adverb

05: Fish live in water. Underlined word is:

(d) visiting
(d) will be
(d) or

(d) purpose

(d) noun

(d) adjective

(d) verb

(d) at

(10x1=10)

(d) those selves

(d) with

(d) surprise

(a) adjective (b) noun (c) pronoun
06: | was grieved his loss.

(@) in (b) with (c) of

07: Allah helps those who help

(a) they (b) them (c) themselves
08: She was absent class.

(a) by (b) from (c) at

09: Alas! She is dead now. The underlined word is an interjection expressing
(a) hesitation (b) doubt (c) grief or pity
10: Her foot is injured in accident.

(a) bad (b) some (c) few

(d) badly
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Q#1: Answer the following questions. (Any 5) (5x2=10)

. What is the role of technology in daily life?
. What will you do if someone cuts his foot and is bleeding?
. What does “a white candle” represent in the poem “The old woman?”
. What did the Quaid tell the people about equal rights?
. According to Igbal how can youth change themselves?
. What does the Quran say about tolerance?

. You’re having lunch with a friend and he begins to choose on some food. How can you help?
Q#2: Translate into Urdu. (Any 2) (2x5=10)
1. Jinnah told his people, “You are free to go to your mosques in this state of Pakistan. You may belong to
any religion or caste ... we are all citizens of one state.”
2. The importance of technology in our life is undeniable technology plays a vital role in our life and it has
added to our lives. We cannot fail to mention that technology has been of great benefit to agricultural
industry.
3. It’s a great idea for older children and adults to do a first aid course so that they know what to do to help
others. First aid is all about what to do in emergency situations.

NoOUuhWNE

Q#3: Write down summary of poem. (Any 1) (10)
1) “Daffodils” (OR) 2) “The old woman”
Q#4: Change the voice. (Any 10) (10x1=10)
1. She gave the beggar a five rupees coin. 2. Everyone liked the idea.
3. The car has been fixed by the mechanic. 4. They are painting the walls.
5. They built this house in 1990. 6. She baked a cake.
7. We have shipped your order. 8. A girl from Banu won the first prize.
9. The police caught the thief yesterday. 10. | have finished the job.
11.The thieves have been arrested by the police yesterday.12. | wrote a letter.
Qi#5: Write a letter toyour friend condoling her on death of her grandmother. (10)
(OR)
Werite a letter to your uncle thanking him for the gift.
Q#6: Do as directed. (10x1=10)
1. | can hear you. (Change into negative)
2. She needs your help. (Change into interrogative)
3. We come at dinner time. (Change into negative)
4. You decorated the hall very well. (Change into interrogative)
5. | was going to market. (Change into negative)
6. | was sick yesterday. (Change into interrogative)
7. She had reached the home. (Change into negative)
8. He enjoys the story. (Change into interrogative)
9. We have passed the exam. (Change into negative)
10. This shopkeeper sells flowers. (Change into interrogative)
11. My brother purchased new car. (Change into negative)
12. | will alter my plan. (Change into interrogative)
Q#7: Translate into English. (Any 15) ) (1x15=15)
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Q#1: Inwhich language is the world Nazriya. . | _q.ﬁﬁgulzju{d}j
(a) Arabic Q/ (b) Urdu 22/ (c) English J%' (d) Persian (§' 6
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Q#2: Allama Igbal proposed a separate homeland for some people of the subcontinent.

(a) The British u;/'./f’ (b) Hindus Us.44 (c) Muslim QJW (d) Christen u;fb:‘
A i Loniur e i
Q#3: . Muslims are different from Hindus, so there should be a separaté ——=——————-- for them.
(a) Towng/st (b) Home land ¢/s  (c)Colony((}#6) (d)Region &5

Y IbSATS A S e 0 8 f 1 RIS
Q#4: On which date Congress passed a resolution demanding immediate independence of India.
(a)1942.:/(19 (b)1942:«/ﬁ8 (c)1942:«/f’10 (d)1942&j14
BnG e L DM L i LS SIS

Q#5 After the agreement of Pakistan, the Muslims of the subcontinent gathered under............... .

(a) under the shadow (b)under the Flag (c) under the sky (d) under the roof
Lz &t & et T i

Q#6: Muhammad Ali Jinnah returned home in April............ L}J‘f}uﬁ‘ __________ J/JCC%J‘J?(H'JG'
(a)1933 (b)1932 (c)1930 (d)1934

Q#7: Pakistanis located in the continent of --- -c‘,d': [ g— (‘y'/.ut’fg
(a)Europe — ¢ (b) South Asia Q'dr’ (c) Asia g’.' (d) Antarcticag¥/

Q#8: What resources is Pakistanrich in? _%JL‘UL‘UD’/&LJLAJ

(a) natural 3,4 (b) agriculture=#1,;  (c) Minerals= .+ (d) All of these(l/",:

Q#9: What is included in worship?. ‘ad"lﬁgl{uf&;lf
(a) prayer JV (b) Zakat and Hajj & #55(c) fasting »Js. (d) all of these ,’V",:

PRI RIS LV Y- 1 P
Q+# 10:How many religious festivals are celebrated by Muslims throughout the year?.

(a)2 (b)3 (c)4 (d)6

1 ot G o IRS



Q#11:Without whom development in the country is not possible.
(a) Money 4; (b) Respect & F (c) Justic J,w

&k KJL#;“'JUW L/él/.Uf/);LdUiJU})ﬁ

Q#12:What was the fate of the Muslims of the subcontinent during the period of British slavery?
(a) Econimical S+ (b) Political (§' k- (c)Statical "L (d) national $7
Q#13:Who was franci’s chemist. ?QU?/U’J%‘{WV

(a) Lavoisier (b) Ibne A.,js esum (c) AlRazi (.d) Albaruni
A ();uzu SN Qo)

Q#14:Which scientist discovered the telephone? - l{;ﬁﬁEuL ubuxtﬂf u;’df
(a) Newton % (b) Gram bell _? (U)/ (c) Faraday <3/ 2 (d) Edison ¢/ 4!

e S S LS
(d) Laws W96

Q#15: The number of chromosomes in humans is %)uﬂ &;n*u‘u:‘uu‘!
(a)40 (0)41 (c)42 (d)43

< Jud s

Q#16: Anorganism is the unit of gene

(a)cell,}'? (b)cytoplasm()il;}”/v (c)NucIeusW"g}i (d) Metabolisms (/}’lﬁ«:
Q#17: How many cells are found in blood? -ugz_uag“é"i qu}
(a)8 (b)6 ()4 (d)2
Q#18: They carry messages in the body VUZZ_J/QV/(L}& uf():/

(a) neuron W% (b) protelnu"ﬁ/ (c) electrons))?g' (d) nuclear %
Q#19 Considered the greatest scientist of the 20th century. -e b s LA e eyt
(a) newtony s (b) Darwin 215 (c) Einsteinu’qu’T (d) EdlSOhJJ/&’

Q#20 The Muslim scientist is considered the founder of Chemistry . <t l//r"(}l. gb)/(k?/ubu"’ L~

(a Marcomdfzb (b)Jabber ben Haiyan (c)AIRaziu'J!/l (d Albaruni d)/Jl
Je sk
Q#21: Who was Srovdinger? ?La?u?///f:/
(a) Dieter (b)Mathematician (c) Economist (d) Scientist
YL L s e Utal®
Q#22: Who was Yukawa. WS (15y)

(a) Japanese physicianul;&bfdg(g
(c) American physician ub:«tgb é/'

Q#23: ----- invented the telescope.
(a) Gram bell (b) Srovdinger

J/(JU/ /f;")/

Q#24 ----- invented sulfuric acid.
(a) Jabber ben Haiyan (b) Marconi
U sl SF L

Q#25 What is the basic unit of living animals?
(a) Chlorophyll ubuyg

(b) Electron u'ﬂ?'

(b) Religious physicianubatgbu?j‘
(d) Pakistani physicianul;:«%{bdtfg

NSy

(c) Bu ali Shina (d) Einstein
b et
HESP = NS a—
(c) BuAli Sina (d) Einstein
br s Jl T
e OGSt b il

(d) cell &

(c) neutron WI/%
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(Short QUEStIONS) i | Gue yuing
(9X5=45)_t Z05 L Jiv p s Sh=ira f 10 s

Q#1: What are the basic beliefs of Islam?. ?ufc—uf,ilﬁfd;l,ﬁirlw
Q#2: Explain the background of Pakistan ideology? - 2%}»&&)&@ :’ﬁ
Q#3: Why is the Lahore Resolution called the Pakistan Resolution? ?ujfgu;ﬁ/u@’/&)bzﬁfznﬂjbﬁ

Q#4: What did Britain change its policy towards India during World War I1?

VJQL,/;Q/J.?U’:J&@'“& Lul?;MLzﬂ'Lb/.c)’/qu»ﬂgiu@.

Q#5: Which are the eastern tributaries of Indus River? ?ugcu?/ui/ﬁm 2l d/“”iaﬁ’&&u

s V
Q#6: State the location of Pakistan on the globe? - ’“Ll?. C:’}ng’ulﬁg{,ﬁag
Q#7: What is the benefit of ozone gas and which gas destroys it? ‘e L}fob LI{J‘?/;’I/':}‘:.D,CG L{KJ{UU':'

Q#8: Where did Radcliffe do injustice to Pakistan in the division of territories
?detiviuufguququﬁ‘ﬁ” Sudwd ki
Q#9: Jabir bin Haiyan prepared which two famous chemical compounds? ?é/gébf/dl{{/xpucuf'g Pl sl

Q#10: Write a short essay on Einstein? - é(,}/ﬁ ufd../l, LJE« Jf
Q#11: What is meant by metabolism ?4‘,)!/({;(},1(;}
Q#12: Define the genetics? Qé-&’/.]Ja&}’-w-’
Q#13: What diseases are spread by viruses? TUZGJ‘{U‘:J[Q uji'/;u’/b
Q#14: What is meant by artificial immunity? ?‘411/ l{c;ﬂ’.w;«}&}’”
Q#15: Vitamin C is obtained naturally from which sources?. ?‘4 l:‘nJllaLéU}d’/{,ub&/}JJ‘h

(Long Questions)i| gu Ju ol
(3x10=30)_t £ 10LJly gt Pty 03f 127

Q#1: Explain the concept of Pakistan in the eyes of Quaid-e-Azam and Allama Igbal?
- ’éugm’“wuﬂdjﬁ S JJG'»U&M(MU?G
Q#2: Describe the important features of the role of Quaid-e-Azam in the establishment of Pakistan?

- ﬂéuwum(ﬂiju)’if%u@ qut’fgrg

-~ Z e
Q#3: Define environmental pollution and state its types? _Q_G(V’é/'/}’éu?/ J»’@Qib
Q#4: Write a note on the importance of genes and chromosomes in a cell? é(f &j{,qﬁ'(g/f/;fﬂ’ﬁ’./ﬂi,&
Q#5: Write the names of important branches of science and explain them? - /écpl}u Julrbéu?b’?ﬁuju)’ -
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Q# 1 :Basic elements are.

(a)5 (b)4
Q# 2 :Founder of chemistry was.
(a)Jabir Bin hayan (b)Bu Ali Sina
Uil br F 4

Q#3: Invented Pinhole camera

(a)Dr.Munir

oA

(b)Jabir bin Hayan
U sl

Q#4:From 1972-1990

(a) BuAli Sina (b) Dr.Abdul Salam
b e i

Q#5:Science of Sun,moon planets and stars called.

(b)Chemistry

4

ke

(a) geography

e

Q#6: The branch reluted to mechance, heat,light and sound is?

(a)Chemistry (b)physics
e A

Q#7.———considered ‘Aristotle of the muslim world ~

(a)Bu Ali Sina (b)Jabir Bin Hayan
b U e

Q#8:The only Noble prize winner scientist of Pakistan is .

(a)Dr.Abdul Qadeer (b)Dr.Abdul salam

L s e s
Q#9: word Bio’ means.
(a)Arguments (b)Earth
& 9]
Q#10:BuAli Sinaiswellknownas____ inEurope.
(a) aristotle (b)Ibn Abdullah
° Ax# ol

ch.;’/.;"&/uu”d)ljz

(c)3 (d)2
-V
(c)Dr.Abdul Salam (d)Dr. Abdul Qadeer
W s L s
Wl A

(c)Muhammad Bin Zakariya (d)Ibn-ul-Haisham

i # ("%w
eI R S GO —— £ 1990-1972

remained chairman of Atomic Energy Comission.

(c) Dr.Munir (d) Dr. Abdul Qadeer
VoL -l
?4‘—(3?&/&5.{.U@r’7.’dfu7'fku
(c)Astronomy (d)Plants
:,g@ =l
‘L:'_J.”/L/‘_/(&bygjbfnlfu‘&/l]‘wﬁ&
(c) Astronomy (d)Geology
Al F i
o bl ——

(c)Dr.Munir

oL

(d) ibn ul haisham
i
— I B I L

(c)Dr.Ishfag Ahmed (d)Dr.Samer Mubarak

210631 15 S
i
(c)Plants (d)Life
=l j,ij

Ut e pe L gl
(d)Abu Ali Ahussain

o

(c) avecena

b )

Q)M[%JS)HU)‘M‘%



Q# 11:Hatest measur of earth’s radius. e —Ulbr L bl FE

(a)6338 (b)6358 (c)6353 (d)6355
Q# 12:Classification of chemical compounds done by- —Jd/&.gmd/abf/&z{
(a)Dr.Munir (b)Bu Ali Sina (c)Dr.Abdul Salam (d)Al Razi
£ br s et s S
Q#13: Al-Khas was gritten by?. = @/d”g”gfg"'
(a) AlRazi (b)Jabir Bin Hayan (c) aristotle (d)Ibne Sina
gl U e £ b 1!
Q# 14 :Knowledge about animals is called.... - b‘l}n’/ ------ k&l’yiu;/ﬂg
(a)Stemology (b)Botany (c)Geography (d)Zoology
;,u,Lz(*‘ i 3if 2 Gl

_‘li)&/’ﬂ,‘bufl940/ﬂﬂ)'ua:15/:}Jl/
Led i LS e ey Lubd Bl )
__‘L;g&‘ful%g,}j:lef,"dlr

HEin0) c2die) b e P § I
-------- SE e Sol i 2 5 Jebos o617 4 i

ER - N 2 FEBIE ()

fﬂﬁfj}&wijt‘vﬁjﬂyu(,) ﬁfﬁuﬁ%(}(‘/(@)
_‘Lbf(jKoJ----Juﬁ,“/j:ls/le

Uz () &r(2) w7 () Ay
-u‘jng.gfw;rﬁuufguf ----- L&‘a‘(’/du‘.g:m/dly

1947(») 1933(%) 1934(-) 1931(4)
_G(J(/’G'uf;1906 204 Ui

A7 () LHe et ie) A

,l,.f‘L.JJQTJ"q»:Zl

1906(>) 1940(%) 1930(-) 1929()
,uf? 29 o S k122 / Jiv

e stsir () At @) P T B P YT
5 80 o B E 23 U

Sl e (s) LG (L) {fg(,ﬁ) o ()
,‘48/()”?” ------ i(tbjuéb»e’,(w:u/dly

s (5) 595(L) E(w) ()
g S e E L 25 4

230) () (=) —F )

2 b G350 0 15
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(Short QUEeStIoNS) i | gu yaie
(9%5=45)_t 05 Ly pce s Fotiro f 109

Q# 1:What is meant by ‘Science’. fesl e u:”/l/
Q#2:Dscribe the services of Dr.Abdul Qadeer Khan in short. ‘éugff &Lﬁgul}4ﬁl,g’f/!5
Q# 3:Whats is physics? Write down the names of its important branches. -ufgftiu}@ﬂ'é/l?q.g‘f/ﬂ

bt dURY, lz(tLJ"*ﬁﬂufuﬂ

Q#4:Names of those three elements which are abundantly found in human body.

Q#5:Why Ice floats on the surface of water fe &j u:&dg i

Q+# 6 :Define photosynthesis. S Z:fd/ﬁf‘/;i
Q#7:What is Organic Chemistry? Qujid/d}"{uc.ﬁf
Q# 8:What are the Basic Components of food? ?uzcu?/uf"/.ld:@ﬁi'}i
Q#9:What is the role of iron in the body? ?+/t;fggu/’7u3ﬁ&U!

e 0 e
JFy P s 11 A Uy
?gd/lgLJ/)l./{{.L?’/ﬁGl’ofa(’tL (Now or Never)u'.?;f://gkb.«': 12/,2Jl/
Ul LL/J‘lc,ju‘v_J_lyLMuuuu; 134 Jiv
?ta??g’ggaﬁ.{f:m/dlr
& FekfY Ul AL GG s A U
(Long Questions)i| gu Ju ol
(3x10=30)_t £ 10LJly p s Fh=tiy03f 105

_éuyag}fgf&@ﬂ'iﬂmﬂuﬁ:1/,‘;Jlr‘
_’éwu,dutfgd% Jff}/J&';@/'LJ@MW:Z/:}JV
et L B34

Q#4:Write down about services of any two muslim Scientists.
Bu Ali Sina Al-Baroni Muhammad Bin Zakariya
b 5 dil M _ﬂé/j _:)4an uw’vk ,;u’(

Q#5:What is meant by science? What are the limitations of science?

?ugg;wJu'*’w%;t/gc;u:’v

3 Q)M[%JS)HU)‘M‘%
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e BB LS ;ul?‘!)//ul/gﬁ”, :ug*;)//
w6 e - J O

(MCQ’S) | o g bt o | ot
(25X1=25)-c- A 0161y poo ot S 6 tly o2 125
e gL

= () ) ULi(e) o Ty
- rtb 8/%“Jﬁ;u____/)’___-f&ln/.Lfﬁj’,w:2/,2Jlr

AP M) aFaemsn@) i Auleai(c)  plsleai()
_én(/’G u’r----g-?fl/:3/',2df}”

1907,(3) +1906(%) ;1905(—) -1904(3)
‘Efuf;z,ffij“_‘éuw/ub‘g:4/,2 Jis

27(5) 26(2) 25(-) 24(H)
UL LU 5 A i

SI0) i (%) N SR
el O ke A D

GEESEG) Ferbun) Jo s o) Feih
e bl T2 A L Ll s 07 i

ety UL @) S5 o Ty
Yook mir S8 A I

,1938(3) ,1937(%) ,1936() ,1935 ()
s dw'ful?‘g uﬁ‘u.’/"L---: o v

,1973(2) ,1971(%) +1956(—) ,1962 (3
e I D L F LGP L b 104 U

VA LA 0 ) Ui (<) U ()
Lok uf;;géul")’g,ﬁ u:‘é&/w'%lu:‘19304(13»2;___£_Jl,?uw: 114 Jiv

oL Te1(0) SA# (@) 247 (=) o T
Bt St 1127 i

27 (3) LB () wb(o) 213
13.Science is thought to be the knowledge based on. -c‘,{,-_-_;l,ﬁd/gﬁc‘— H‘MUJVZ 13/’,‘; Jlr‘

ZAalie () P 4(8) S (o) =L E ()

(a)Observation (b)Big Ideas (c) Prediction (d)Assumption

14.The Book Al-Qanoon is written by a Muslim Scientist named.‘.ﬁ;rl:ggf‘.‘aufz,/&/u’ﬁl/(p" U}jwf"gf«'f: 14/,2 J’/
b FA0) A S By

1 ot G o IRS



15.Technology is nothing but.
z
268400

H‘(J)

(a)Knowledge

16. Was awarded noble prize in physics.
U A () A

(a)Jabir Bin Hayan
17 .Respiration as a process of .
S = U I0)

(a)Meta Bolism

S @)

(b)CataBolic

18.  Killsselective bacteria.
JH0) &}fgéj"(é)
(a)Lipids (b)Antibiotic
19.Which one is not organic food.
=L () Q)
(a)Minerals (b)Lipids

e §F e

(b)Way of Life (c)Application of Scientific(d)Technology Is Nothing

(b)Ibnul Hatham(c)Dr.Abdul Qadeer Khan

A £ NG 15 4 i
L7 QUi

WSS e A U
b L8 AT () e 153
(d)Abdul Salam

_%Jj___-fgy:l7/f‘;dfr“

S Ao o a( )
(c)Ana Bolic (d)None of These
_C‘rt‘/ln;‘:/éé/ou';;;~~~~118/’,2d’}’
(o) g ()
(c)Vaccines (d)Protain
?%ujuﬂ/}&yb‘f'f:lQ/:}Jl/
S K) Fag( )
(c)Carbohydrates (d)Proteins

_%&fdjjlﬂéf,lﬁ %%&%’%JU’;U.?()’LJJ%&"QZZO/:}JU’

20.Energy isreleased in an animal body, When food react with.
b8 A0 YA ()

(a)Digestive Juices (b)Co,

2 1.How much blood an average human body contains?

Akl P o) Aot @)

(a)About Fifteen Litters(b)About Ten Litters

22.  are the macromolecules formed of amino-aids.
= o) LK)
(a)None OF These (b)Carbohydrates
23.Metabolismhas_____ distinet phases.
5(») 4(¢)
(a)5 (b)4
24.  are proteins that act as catalyst.
JT8F = i) k(8
(a)None of These (b)Plasma

25.The initial remarkable work on opities was done by.
AN S i (5) Uik (@)
(a)Muhammad Bin Zakria(b)Jabir Bin Hayan

ST (<) I T
(c)Blood (d)Oxygen

_%w//u;@fﬁguwru,g:z 1 i

AGLF o AL F
(c)About Five Litters (d)About One Litter
cadfle ri e et 224 i

(<) uﬁb:/,(bﬂf)
(c)Lipids (d)Protein
gt e S e23 4 U
3(<) 2 ()
(c)3 (d)2
_uga“.fﬂ/,»” ngtfﬁug :,gf---_: 24/le
() U# ()
(c)Enzymes (d)Blood

,L{"gﬂjl‘}u'ukuJ’ﬁ’{,(&&ﬂ){fﬂ: 25/{;Jl/
ﬁfn"}luii(b',) Qs 213

(c)lbn-ul-Haitham (d)Al-Baroni
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(Short QUEStIONS) i | gus i
(9x5=45)_t A 03 Ly fco st Fhtirof i

35 LS T 107324 U L F g leislle Fa L
-(é/j}.;ts/g&imz.wgauéz;4/Ju~ ?u,?du/chf/ﬁ'“;guf/fiiﬂu’(: 34Uy

fe u;fyﬂ'b/&@ugjéf: 6,4 _’é.l?:(tLJ/w&,w Lulﬁg .5 4 s

St p e e G187 7 iy

08.What is technology? ?‘Lt{&)tg:S/.}Jlf
09.Describe the contributions of any 1 Muslim Scientist? fé(,f awéuuﬁvﬂ/vgu’{: 9/',}J1}”

?uj’Jf.j)f&:L(ﬁgf(uuléuyg}/'ufffﬂhéb‘é&}:10/,}J’r’

10.Defferentiate between photosynthesis and respiration What sort of metabolic reaction are they?

11.What are leucocytes? How do they defend the body? (LIt Sty S LF bt
12 .Define food. -é..é{/?&ﬁ:lz/dl/
13.Explain the following terms. (any 2) _éwb}galpl}b"ud&ﬁ 1 3/,‘;Jir’
(Harmons)~»* L (iii) (Nervous system) & Jle* (i) (Lipids) ¥ s.(i)
14.What are bacteria? Where are they found? U L@Lgul{utﬁuﬂ ujg&jfé’ 14/:‘;Jl/
15.What is neurosis and psychosis? 14 l{ub/u”‘hﬂy(}uﬂ: 15/,‘;Jlr‘

(Long Questions) | gu Jusda
(3x10=30)-t £ 10LJly - st Sty 03 129
Sstoid U = LGP UL (21 i
Bopea§oinigi e fdy
?‘at'n/l;)/t{b/'ufuygﬂﬁ: 3/:‘;le
4 .Define metabolism and its types What is its importance? ?‘a:{fllgd/gjlul’{i:uy "L»’“'Ju"/ﬂ(}}ft‘}:: 4/',‘; Jl/
s LA UL RE e e L Uil R U s LA S O A S S5 4 Ui

5.what is a desire? What important tactors are responsible for the spread of a disease? Name the group of living

organisms responsible for spread of diseases?

3 ot G o IRS
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Q#1: Who is called the poet of the East? ?c‘, btgby’i‘fd/“”/tﬁ
(a) Allama Igbal (b) Hafiz Jalndhri (c)Sir Syed Ahmed Khan (d) Molana Altaf Husain Hali
Q#2: The Hindi-Urdu controversy began. -'}76)/:",&}[5’.5)/’6/‘:‘2'
(a):1869 (b);1867 (c);1865 (d):,1863

Q#3:"Now or never" is written by:

(a) Allama Igbal (b) Ch Rehmat Ali

Q#4: Quaid-e-Azam joined the Muslim League.

-4/ now or never £07

(d) Hafiz Jalndhri

St b

(c)Sir Syed Ahmed Khan

(a) ;1917 (b) ;1915 (c) ;1913 (d) ;1911

Q#5: There are sources of ideology. -uj%bi{.}j
(a) geography (b)Chemistry (c)Astronomy (d)Plants
S 4 Al o

Q# 6:Pakistan is the only country in the world which was founded on ----. -G’(uj/{,-——;g%uf%‘a CM‘&JM’JD) J.l(; ul?’/g
(a) house/f (b) peaceu"i (c) IsIam(LH (d) rest('/T

Q# 7 :Muslims and Hindus of the subcontinent participated in the war of independence of -------

(a)#1965 (b);1971

Q#8: During the Muslim era, the official language was

(a) Urduss/ (b) Arabic*

Q#9: Who suggested the name of Pakistan?

(a) Allama Igbal

Q#10: Allama Igbal was born on 9 November in Sialkot.

(a);1875 (b);,1876

Q#11: Quaid-e-Azam's father was a -------

(a) trader. 7t

(b) Ch Rehmat Ali

(b) business mand;fd/l::/g

BY 2 L skl YIS L/f"/,ufd;!jf.,@'d/ _____

(c);1857 (d);1914

_____ ,UE------ugjd/K/ e Ly

(c) Engnshwfl (d) TurkishJ/“

?Lj}jé_u((twtfg
(c) Sir syed Ahmad Khan (d) Hafiz jalndhri
R SU [y Su— 299Gtk
(c);1877 (d),1878

S A— ..gﬂbif‘ﬁj'ﬂ?

(d) lawyer s

(c) doctor}’fb”

Q)M[%JS)HU)‘M‘%
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Q#12: The number of attendees in Resolution Pakistan was----

(a) one Laciﬂug (b)tow lacs Us» (c)three Iaciqu (d)fourlachU/.lg
Q#13: The Cripps Mission consisted of one while the Cabinet -La?‘)}:y/,:ugﬂ —————— Ljydg,&/’_guy;ﬁf

Mission consisted of ----- members
(a) 2 (b)3 (c)4 (d)5

Q#14: Geology is the study of: e S
(a) earthgs) (b) medicines= s, (c) plantsUss¢ (d) animalsw/ilg

Q#15: The Writer of Alganon filtib. P uiﬁ&v}m&uﬂ?
(a)JabirBnHayan cA>i 4> (b) 1bn-e-Sina b4 ¢/ (c) Alberoni &5/:;' (d)AIrrazidJ')’

Q#16: The analysis begins with the recorded ----- - b‘nc----»ﬁb@dl}fgdfn
(a)information=le#®  (b)data &3 (c)chart (d) processu':/){,

Q#17: Laser technology is being used to eliminate the cellsof -« U"/lgd/dt*;”'i LL)/f}fo.l’ L&)L«?/A

(a) T.BL}:} (b)Hepatitisuﬁ'/lﬁ’.‘li; (c)Cancer/f (d)MaIariaE/:L

Q#18: ----is the center of universe. -‘L)// (FC S—
(a)earthy) (b)sun .+ (c)moon,C.[g (d)skyuk’f

Q#19: Muslim rule consisted of ----- _lﬁd}y{, ------ c;m;g/url/
(a) 600-1300AD (b) 600-1400AD (c) 600-1500AD (d) 600-1600AD

Q#20: The modern era began in the ----- century. 7 ufd%—-——)&fg,:,«g/u
(a)17 (b)18 (c)19 (d)20

Q#21: Muhammad bin Zakariya al-Razi was a -------- man of his time. A e A Z,Ju’:?_!u’)l/!l:fjwj
(a) trader.7t: (b) business mand;"/u’/l:ug (c) doctor}(b" (d) Iawyerdfr;

Q#22: There are major branches of science. _u’?uf@d}. ------ Ju’.'ll/
(a)2 (b)3 (c)4 (d)5

Q#23: Biological science is the study of: -« b J;’/l/uwg
(a)solidJ)”? (b)quuidéb (c)living/14k (d)non livingyl &

Q#24: Aristotle described the ------ different types of plants. ,qu)gru’_i@-—--gju;;{é_?/ﬂ
(a)600 (b)500 (c)400 (d)300

Q#25: ----- They were probably the first scientists to -u;{og,f:.oﬁﬁ'l:gfh'ﬁéu';gf.”/l,«&@& -----
(a) JebirBnHayanchoeiAe  (b)1bn-e-Sinals k! (c)Alberoni L})ﬁ” (d)Alrrazi$J1/

2 b G350 0 15
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(Short QUESTIONS) il g e
(9%5=45)_t £ 05 Ly pcsor Fhtiro f 105

Q#1: How did Dr. George Brass define ideology? ?Jbg/?lifg}/z,}j'gu!/.&;lgfflﬁ
Q#2: When and who introduced the name of Pakistan? ?y,f.:‘/wé_‘/(m,!(wuu‘g
Q#3: How do ideological nations solve problems? mﬁ@&d’wb Jf;"&t/j”’
Q#4:Why did the Shimla conference fail? ?én(% u:{u"/?}p
Q#5: Why did the Gandhi-Janah talks fail? ?Lyz(% u;ﬁ/&')/ljz/te—(f}g
Q#6: Describe the location of Pakistan. -u:fu.l{. c},fguw/g
Q#7: What is called plateau? ?uzid/bé‘/i/
Q#8: Write the contributions of Jabir bin Hayyan. _’é(,f &LA&JU?M/J?
Q#9: What is meant by geology? fe sl e Sl
Q#10: Write 5 advantages of science. -’.é/jﬂ}siu“"v
Q#11: Write the chemical composition of washing powder. _éz,f &VJ&{JJ%& s
Q#12: Write the main reasons for mal-nutrition. _/ézjn LEX}U}Q&J&/)}.’:&
Q#13: Why are fast foods harmful to health? ?ug'u ul.«ﬁ“ U)f/i LJ:"}.’&/G

Q#14: Write an explanation of the possible dangers arising from the use of hydrogen in balloons.
_’é(‘fw&?UJJ&W%LULM&;J@'L&U@?%u:‘/_,/lf
Q#15: Write the names of the Muslim ministers in the interim government in 1945-46.
_{é/j}e&u;,,f‘”ww:‘u}dm U< 46-1945
(Long Questions) i gu Juioda
(3x10=30)_t £ 10LJly pc s Fh=tiy03f 125

Q+# 1:Explain the origins/sources of the theory. -’éug}uz,a,ﬁ

Q+#2:Write an explanation of the ideology of Pakistan in the light of Allama Igbal's sayings.
,’é(,} .:»Lz,d/ut:fg d}j u:‘fu(fu;r/’!,dg?uw
Q# 3:Compare Cripps Mission and Cabinet Mission. -ﬂéo/”lgu%@gu& ,};gu'u&uéf
Q#4:"Smoking is a habit leading to death". Write a detailed explanation of this sentence regarding smoking.
,éz,;wlhc(}fjgj&u’ch’iLu’}j&“}/’,"%&)bdl;ngL{,ﬁ:J&r‘ (j’)’.”«;}/’
Q+#5:Why is a balanced diet important? What kind of effects does the lack of a balanced Gaza have on human health? Explain.

Heoloite 35 p eI L S 4 QUG- e §1E 0 e s 2 U 15 05
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Q#13: Inthe scientific process------- are the basic tools. -u}ﬂjﬁlu’)g& ------ ufu’."/l/

(a) Observation +exper|ments (b)observation, reasoning+experiment
Foif o el gl
(c) inventions+ issues (d)Diseases & Cure
Szl LUl

Q#14: Which science deals with matter and energy?:

(a) Life science

e L8

(b)Earth science

Lj'.{lxubz'

?c‘,&fuy?/&l:l;’.ulul,u?c‘,z/lﬁpafmjujv

(c) Physical science

el

(d) none of these

S et
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Q#15:

Q#16:

Q#17:

Q#18:

Q#109:

Q#20:

Q#21:

Q#22:

Q#23:

Q#24:

Q#25:

Life science is also known as------ ‘L‘Eufuﬂf ----- u}’/lz&j,c]
(a) Earth science (b) Biology (c) chemistry (d) physics
SF S 84 A
”’Qanon-al-Masoodi Fil Hayat wan Najoom” was written by- %---rtgyéeﬂ‘jaw‘éééw‘ SLlY
(a)Jabir Bin Hayan (b) Bu Ali Sina (c) Al- Boruni (d)Al-Razi
o i A br o Wy g
Who was the first physician to describe meningitis? _L{u.l(.L-——&c wi/d/kjg Meningitis
(a) Jabir Bin Hayan (b) Bu Ali Sina (c) Al- Boruni (d)Al-Razi
U A br & 3ol S
Astronomy is the branch of science,which deals with--, %&UJ&LL}L’?L ----- urJ%‘LCL%}JJL/V&E@(}
(a)Heavenly bodies (b)Earth bodies (c)Bodoes in ocean (d)Anti-bodies
u@ﬂf,’ U}’C?. =l U)/’,Clguitu}
-------- is a medical test invotving the removal of cells or tissues for examination
(a) sonography (b) X-Ray (c)Biopsy (d) M.R.I
315 9y A uf.,lél: ST
science is originated from a Latin word scentia,which means------
- (}’VLch‘_lfl{jélLScientiaﬁﬁLugi&fﬂu:*/L/Eij
(a)Know (b)Act (c)Teach (d)Behave
b 584 . S5t
The Famous book of Ibn-ul-Haytham is------- ~&ommmme- b.«C'f/}z’é’ J(i.?‘]'ui’
(a) Al-Hawi (b) Ali-Shifa (c)Kitab Al Manzar (d) Qanoon fil Tib
Saldi LG Al RS
The Muslim period of science ranges from----century A.D.  —& bl l{)kczufufd%‘fdﬂ ------ Jféjb Ju’.'/l/
(a)1%to6" (b)7" to 13th (c)14"to 16" (d)17"to 20"
T P UL e Uy e Pz JrEe P
----- against various diseases is considered as a major step towards the development of healthy life.
e SIS e ae ey b L6 L Ugle§
(a)Surgery (b)M.R.1 (c)X-Ray (d)Vaccination
$7p dTTé A s
----- is considers father of optics. < l:'laby/;’//bﬂﬂbLLL
(a)Bu Ali Sina (b)Jabir Bin Hayan (c)AI Buroni (d)Ibn ul Haytham
br & o 3ol A
Treatment of retina with the help of laser is an example of----. - Jl:‘/J ------- GWKU:?/L@KTL)#J/X
(a) Micro surgery (b)X-Ray (c)Sonography (d)Biopsy

d/./;/?’b ;/4 355 uf.ﬂ&l:

2 b G350 0 15
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?q,)'/gc—dfjd}»: 1

?JMJ/U}{&/}/}J(?LV?(L/:Z

?é;’c’]u’/&'@}d/{,@fdyéu:}w%/{/}/:3

?énﬂtu:{u’/"%.l/ﬁﬂ

?gwfu}“suy/;LuimﬂluiWLa@!, u{ 5

_’éug%ﬁl&wm&}ﬂ{ww& 6

cel B AUsl7

Q# 8:Write down contribution of Jabber Bin Hayan in field of science. -’é/j.;wéféuruwiu*véupw/@

Q#9: Define science. _’éuyﬂfu"’u
Q#10:Explain Recyling. _"é..é{/?‘_‘ﬁ/..ﬁg:’t/dz
Q# 11:Write Some properties of plastic. - éug ;’«&4:“7 dfbulét;{w‘g J..f/l&
Q#12: Write down effects of anemia on body. _ﬂéug &l/:'lLULM{,()' L&«f:'.,l
Q#13:Differentiate between malnutrition and under nutrition. -z &/qufélﬁ/)"ﬁ u‘}l,
Q#14: Cleanliness ensures health’.Berieﬂy explain the statement. _é:)lﬁn/ﬁ? Jt.,/“i’ J! '%u"bd/cﬁa&lﬂ
Q#15:Write a short note on ‘malaria’. . fé(,f Li/‘?éd/@ J&/.‘.L

(Long Questions)i| gu Ju ol
(3x10=30)-yt £ 10 L1y poce s> F iy 03 12

i remmsulos F
B ea s ALt 2822
_41;"(3&,/4J/L»inu£uufg:3

Q#4: Give detail account of different branches of science and their interrelationship with each other.
,’éuy(_g}’fﬂf&b Il oause L
Q#5: Describe the harmful impact of CFC, pesticides and fertilizers.

‘é;‘}uuy;‘,’/&’uuw L&E})’/Loé—k,/ﬂ’)w/(j’w/ CFC

3 Q)M[%JS)HU)‘M‘%



